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(a) sin37° (b) sin16° x 3 © ——
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(a) sin@ =0.26 (b) sing == (C) 4sin@ =3
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(c) K ~ZDAE » HUE AR = I A8 - (277)




(a)
(b)
(©)

(@)

(@)

(@)

(b)

(©)

0.602
0.827

1.33

sin57° = =
10
x = 10sin57°
x = 8.39
cD

sin30° = —
36

CD = 36sin30° =18 m

~CE=24+18

=42 m

£ AACDTH »

£ AADE »

1F AADET
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(AD)? + (CD)? = (AC)?

(@) 15.1°
(b) 32.6°

(c) 48.6°

(b)

ut |

(b) sin60° =

xsin60° =11

11
" sin60°

x =127

(EEH)

(AD)? = (36)? — (18)% = 972

(AE)? = (AD)? + (DE)?
(AE)? = 972 + 242 = 1548
AE =+/1548 =393 m

sin 2 DAE = -

sin ~ DAE = 32—"‘

ZDAE = 37.6°
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CE=24+CD



